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1. Many of the trees in a national forest suffer from a virus that
attacks the bark of the tree. Trees with this virus should be
removed in order to minimize the risk to nearby trees. To estimate
the proportion of trees that have this virus, ara andom sample of

204 trees was selected. Each selected tree was inspected and it was
found that 28% of the trees in the sample had the virus. A 95%
confidence interval will be used to estimate the proportion of trees
with the virus.

(a) Verify that use of the large- sample z conﬁdence interval is

appropriate.

(b) Calculate the 95% confidence interval

(c) Interpret the confidence interval and the associated conﬁdencu
lexel. i
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2. Ninety minutes are allowed for students to complete the multiple-
choice section of a national exam. A random sample of 28 students
selected from the students at a large high school took a practice
exam, and the time (in minutes) that it took each student to
complete the multiple-choice section was recorded. The times are
given below.

Time to complete multiple cholce section

58 76 74 80 88 74 65
97 66 95 77 63 83 73

64 71 60 68 70 63 71

57 75 74 52 71 81 82

(a) Construct a 90% confidence interval for the mean time to

complete the multiple-choice section for students at this school.

(b) Based on the confidence interval, do you think that 90 minutes
is a reasonable amount of time to allow for the multiple-choice
part of the test? Explain your reasoning.
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¢ Chapter 7 sampling Variability and Sampling Distributions T
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1. The amount of sugar in a one-gallon container of southern sweet 6«“

M
tea is approximately normally distributed with a mean of 1.8 cups ?0 loion & "’&
with a standard deviation 0.4 cups. &

(a) What is the probability that a randomly selected gallon N ( 1§ ,4\
container of this tea will have at least 2.3 cups of sugar in it? !
(b) What is the probability that the total amount of sugar in a M &

sample of 10 gallon containers of this tea will be at least 23
cups?
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2. A well-known food chain believes that 36%.of their customers Vookes -;Pa ‘e
prefer to have the buns used to make their sandwich to be toasted. —#MPU eation EEme

Suppose a random sample of 400 people is to be selected from the P’ The droe progo ARon

chain’s customers. v

(a) What is the mean and standard deviation of the sampling o4 cush mers wbho
distribution of p, the proportion of customers in the sample 'Pﬂ--(-tf Yoasied buns.

who prefer toasted sandwich buns?
(b) Is the sampling distribution of p approx]mately normal?

(¢) What is the probability that fewer than 32% of the customers
in the sample will prefer to have their sandwiches on toasted?
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Chapter 8: Estimating with Confidence Worsh b

Concept : Choosing the Sample Size

@ A researcher would like fo estimate the proportion of adults who can roll their tongues. However,
unlike the previous example, she'd like the estimate to be within 2% at a 95% confidence fevel.
How large a sample is needed?
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= A researcher would like to estimate the mean amount of time it takes to accomplish a particular
task. A previous study indicates the time required varies in the population with a standard
deviation of 4 seconds. He would like to estimate the true mean time within 0.5 seconds at 95%
confidence. How large a sample is needgd?
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Worksheet #4

“hapter 7 & 8 Review MC

L. 1

>

(A. parameter.) B. population. C. statistic. D. sample. E. sampling distribution. <~ %

. Which of the following is correct?

e m

A survey conducted by Black Flag asked whether or not the action of a certain type of roach disk was
effective in killing roaches. 79% of the respondents agreed that the roach disk was effective. The number
79% is a —— & Sam ple.—> shebiste

A. parameter. B. population. @ D. sample. E. sampling distribution.

: —r = Same be :
In the 2008 New Hampshire Democratic primary, 30% of voter in a CNN poll said they would vote for
Hillary Clinton. Surprisingly, in the primary itself, 39%, voted for Clinton. The number 39% is a e
e

A (parameters de “haracteristics’ B. parameters describe sa'pﬁale characteristics C. the
populatién is a subset of the s mB fe D. statistics must be based on a simple random sample E. both (A)
and (D) are correct.

Scenario 7-2
Below are dot plots of the values taken by three different statistics in 30 samples from the same population. o

The true value of the population parameter is marked with an arrow. e XAS 2 e
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Use Scenario 7-2. The statistic that has the largest bias among these three is
A. statistic A, B. statistic B.(C. statistic C.OD. A and B have similar bias, and it is larger than the bias
of C. E. B and C have similar bias, and it is larger than the bias of A.

Use Scenario 7-2. The statistic that has the lowest variability among these three is
A. statistic A. B. statistic B. C. statistic C, D, A and B have similar variability, and it is less than the

variability of C. (E. B and C have similar variability, and it is less than the variability of A

Use Scenario 7-2. Based on the performance of the three statistics in many samples, which is preferred as an
estimate of the parameter? YrisHc B has $ha Jovsest yorichi bity and has vera hiitle bigs
A. statistic A, C, statistic C. D. either A or B would be equally good. E. either BorC

would be equally good.

n
To reduce the variability of estimates from a simple random sampleT you should g —
A. use a smaller sample. B. increase the bias. C. use a count, not a percent. (D. use a larger sample.)
E. use a percent, not a count. e ————




Name:

ID: A

D s

B9
D 10

Know these !t ?,,Pm.‘fwf‘

Scenario 7-4 e
According to a recent poll, @a of Americansiget 30 minutes of exercise at least five days each week. Let’s

assume this is the parameter value for thé"population. A g = p =21 & ‘% — J RO =R _1Ln (L 73)
n .
2%

Use Scenario 7-4. If you take a simple random sample of 25 Americans and let P =the proportioninthe = ,65% ¥
sample who get 30 minutes of exercise at least fives days per week, what are the mean and standard deviation
of the sampling distribution of 2 ?
A Hy= 0.30;0}, =0.1039 B. Hy = 0.30;0’5, =0.0888 C. &%O’pﬂ Noﬁﬁd’fi)
=027.0,=00888 E. u,=0270,=01039 USE
Hp 2 Es E ffg_ 7 C’arreul'l‘&
A researcher studying reaction time of drivers states that, “A 95% confidence interval for the mean time it
takes for a driver to apply the brakes after seeing the brake lights on a vehicle in front of himis 1.2 to 1.8 R oo,
seconds. What are the point estimate and margin of error for this interval? P?‘L‘{“‘t& 5:5{,3;"_,‘; ,@‘33}‘;_{_? 5
A. Point estimate = 1.2 seconds; margin of error = 0.6 seconds. B. Point estimate =71.2 seconds; margin of
error = 0.3 seconds. C. Point estimate = 1.5 seconds; margin of error 95%. D. Point estimate = 1.5 ME=lg 5
seconds; margin of error = 0.6 seconds. (E. Point estimate = 1.5 seconds; margin of error = 0.3 seconds. ™ .3

A political candidate is told by his polling organization that a 90% confidence interval for the proportion of

voters who support his candidacy is 0.45 to 0.53. What are thé-:?po int estimate and margin of error for this
interval? —y i T h '-—{—'i‘— =49 mE='Z3297_ oy
A. Point estimate = 0.50; margin of error = 0.08. B. Point estimate = 0.49; margin of error 20% C. Point
estimate = 0.49; margin of error 0.08: D. Point estimate = 0.49; margin of error = 0.04. E. Point estimate

= 0.49; margin or error cannot be determined without sample size,

In checking conditions for constructing confidence intervals for a population mean, it’s important to plot the
distribution of sample data. Below are dot plots describing samples from three different populations. For
which of the three samples would it be safe to construct a t-interval? > u 1“\-.-'. badns ~
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A. Plot X only B. Plot Y only C. PlotZ only (D. Plots Y and Z ) E. None of the plots. Llonnd
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Make sure you can distinguish between a parameter and a statistic.

Know the correct notations p, 4, 0',;, S o Py B My 0'; , Oy, Non, SE(;),SE(;'B)

-

Know the appropriate notations for finding probability. A~ =
e P

o
Know how to define a random variable (always use a capital letter) and parameters of inferest.



